

Equations and Constants: $g = -9.81 \frac{\text{m}}{\text{s}^2}$ $\vec{\Delta d} = \vec{v}_i \Delta t + \frac{1}{2} \vec{a} (\Delta t)^2$

$$\vec{v}_{\text{avg}} = \frac{\vec{\Delta d}}{\Delta t} = \frac{1}{2} (\vec{v}_f + \vec{v}_i) \quad \vec{a} = \frac{\vec{\Delta v}}{\Delta t} = \frac{\vec{v}_f - \vec{v}_i}{\Delta t} \quad \vec{v}_f^2 = \vec{v}_i^2 + 2 \vec{a} \Delta d$$

Equations and Constants: $g = -9.81 \frac{\text{m}}{\text{s}^2}$ $\vec{\Delta d} = \vec{v}_i \Delta t + \frac{1}{2} \vec{a} (\Delta t)^2$

$$\vec{v}_{\text{avg}} = \frac{\vec{\Delta d}}{\Delta t} = \frac{1}{2} (\vec{v}_f + \vec{v}_i) \quad \vec{a} = \frac{\vec{\Delta v}}{\Delta t} = \frac{\vec{v}_f - \vec{v}_i}{\Delta t} \quad \vec{v}_f^2 = \vec{v}_i^2 + 2 \vec{a} \Delta d$$

Equations and Constants: $g = -9.81 \frac{\text{m}}{\text{s}^2}$ $\vec{\Delta d} = \vec{v}_i \Delta t + \frac{1}{2} \vec{a} (\Delta t)^2$

$$\vec{v}_{\text{avg}} = \frac{\vec{\Delta d}}{\Delta t} = \frac{1}{2} (\vec{v}_f + \vec{v}_i) \quad \vec{a} = \frac{\vec{\Delta v}}{\Delta t} = \frac{\vec{v}_f - \vec{v}_i}{\Delta t} \quad \vec{v}_f^2 = \vec{v}_i^2 + 2 \vec{a} \Delta d$$

Equations and Constants: $g = -9.81 \frac{\text{m}}{\text{s}^2}$ $\vec{\Delta d} = \vec{v}_i \Delta t + \frac{1}{2} \vec{a} (\Delta t)^2$

$$\vec{v}_{\text{avg}} = \frac{\vec{\Delta d}}{\Delta t} = \frac{1}{2} (\vec{v}_f + \vec{v}_i) \quad \vec{a} = \frac{\vec{\Delta v}}{\Delta t} = \frac{\vec{v}_f - \vec{v}_i}{\Delta t} \quad \vec{v}_f^2 = \vec{v}_i^2 + 2 \vec{a} \Delta d$$